RE7TAN 2XFEN E#DE 01

1. ROFEXZMIT. (SHk308, Afks50%, B1930F, C#k2430% )

(1) 22 —2x41=0 (2) 22 —4x—21=0
3) 22 +3x4+2=0 (4) 22 —1224+20=0
(5) 22 4+8x—-9=0 (6) 22 —bx—84=0

2. ROFERZMS. (S0, AKS50F, Bik1340%, C#H35)

(1) z? = -3z (2) 22 +dx=—4

(3) 222 —22-4=0 (4) 322 +13r+12=0
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3. ROFHERXZMT. (S35, A1, B#1550%, C#35)

(1) 22 —6x4+9=0 (2) 22 —3x—18=0
(3) 22 +6x4+8=0 (4) 22— 112 4+30=0
(5) 22410z —11=0 (6) 22 —8x—65=0

4. ROFERZMRT. (S35, A1, B¥1o50%8, C#34)

(1) 22=-5x (2)  22+8x=-16

(3) 322—6x—24=0 (4) 522+ 13z+6=0
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RE7TAN 2XFEN E#DE 01

ML

1. ROFEXZMIT. (SHk308, Afks50%, B1930F, C#k2430% )

(1) 22 —2x41=0

(x—1)2 = 0
z—1 = 0
1

X =

Y2RHBRTEZVB 1 OL2RnwI L%,
B L\,

3) 22 +3x4+2=0

@+ D)@+2) =0
z=—-1XIEz=-2

(5) 22 4+8x—-9=0

(x+9)(z—1)=0
r=-9XFzx=1

(2) 22 —4x—-21=0
(x4+3)(z—-T7)=0

z+3=0XlEzxz—-7=0
r=-3Xldzxz="7

(4) 22 —-1224+20=0

(x—2)(x—10)=0
r=2Xldz=10

(6) 22—-5:x—-84=0

(x+7)(x—-12)=0
z=—7XlE =12

2. ROFGEAZEMBT. (SH30F, Afks50, Bf1440F, C#% 34 )

(1) z? = —3x
2+3x = 0
z(z+3) = 0
z=0XlFxz=-3

Y0 ZILTENLRVL L.

(3) 202 —2x—4=0
2or-2 = 0 <l
0

(x4+1)(z—-2) =
r=—-1XlFz=2

© -

(2) 22 4+ 4dr=—4

244 +4 = 0
(x+2)2 = 0
x = -2

(4)  322+13z+12=0

(x+3)Bx+4)=0

x+3=0 Xl& 3z+4=0

_ __4
z=-3Xldz= 3
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3. ROFHERXZMT. (S35, A1, B#1550%, C#35)

(1) 22 —6x4+9=0 (2) 22 —3x—18=0
(x—3)2% = 0 (x+3)(x—6)=0
r=3 =0 r=-3XEz=6

x = 3

3) 22 +6x4+8=0 (4) 22— 11z 4+30=0
z+4)(z+2)=0 (x=5)(z—6)=0
r=—4XlFx=-2 r=5Xldx=6

(5) 22410z —-11=0 (6) 22—8r—-65=0
(z+11)(z—1)=0 (z+5)(x—13) =0
z=—-11XFxz=1 z=—-5Xldz=13

4. ROFEREMT. (S35, A1, B 13508, C#%345)

(1) z? = —bx (2) z? +8x = —16
22+5x = 0 2?2 +8+16 = 0
z(x+5) = 0 (v +4)2 = 0

r=0XlEzxr=-5 z = —4

K OZRLTENZ NI L.

(3) 322 —62—24=0 (4) 5224+ 132 +6=0
> -20-8 = 0 (x+2)(5z+3)=0
(z+2)(z—-4) = 0 w=—22l€tw=—%

r=-2Xldxz=14
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